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Random Topics. Form A

1. What is the product of i(2 — 3i) wherei =+/=17

((z30) = 23" e

(B)3=2i = 2L -3("
(C)2i—3 = 2¢+3
(D) 5
(E)V3 + 2i
20
2. The expression e is equivalent to? Note that i = v=1
» < ¢ N
_ : ~ | 2
(A) 1+ 2i &. _l,_':_L. — .?:__L__;’_L—é—-—z — C'\“ = Z¥v2L
(B)Z +1 vl 1ot l—( +(—¢C b=k |
©1-i : .
(D)1 - 2i = 2-\—ZZL = \x(

3. Which of the following is a solution to X2 + 4 = 07?

(A)VZ XZ: -\
L
(C) 4i . \}’?{ =2
, \ ' = 2¢
(E) V2i $p spluhone a A

4. What is the number 350,000,000 in scientific notation?

e £t Add ﬂxﬁ\ﬁ Sulbteact

(A)3.5x10°

; —
(B) 35x 108 AR
Torseris  001000,000,
. _
(E)3.5x 108 +5

5. What is the number 0.00000263 in scientific notation?
atli \___,_f—"

(m263x10) & LA RS

(B) 263x 108
(C) 2.63 x 106
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(D) 1x10-263
(E)2.63x 108

6. Whatis 3.4 x 10° + 9.7 x 106 equal to? \ L
oaxe

(A) 10.04 x 107 Bﬁ‘ﬁ)re/ we a\clo\ we_ V\Qeo\ '\'D M

(B) 10.04 x 1011 the exponents. e —
(C) 1.004 x 10° ConVert 3.HX\0 fo 5“ ' .
Exponent ay A7 XD . Z-th\(i) =034 x1p g

. ! ;
(E)1.004x 1077 O3+ TTX10°= 10-091 X0 = 1,004 X\

7. Whatis (3.4 x 1072) (6.2 x 10°) equal to?

(A)2.108 x 10* ~ - |
(B) 2.108 x 1012 INX 62 = 2] 08

-7
10X (0= 10

(D) 21.08 x 105 y S
(E)2.108x 105 so 21.08xw = Z.|08x)06
8.4 x 10°
8.'—‘——3—'——?
1.4x 10 | &\ _ L
.y
Ciaex10) 1o _ _
(B)6x 1077 T(‘)‘-z = 10 = 10
(C) 60 x 108
(D)60x 108 7
(E) 6 x 10° 6X 10

9. What is the next number in the pattern below?

0,3,8,15,24, .... T
! / 8' )S, ?’L}, S

(C36

(D 40

(E) 37 $D sz +| = 55
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10. What is the sum of the next three numbers in the pattern below?

1,3,6,10, 15, 21, .... & 1
i . -+
(A) 95 \:\L/me/t%
(B) 100 1519,1(),!5,2![26'3(:' e
(C99 .
(D115 28+36xHE =109
E) 109
11. The sum of 5 consecutive integers is 505. Wr}rat is the second number?
Let a be any nteger
(2;1(0); . TRe O Cmsecuﬂvgin-\-ﬁﬁefs ay e_
TF\e\(‘ SUN _— SDS
o 04+ +ALTH A+ AT = B
9 g = S = L
(E) 5a10=505 = 5a= 95 <0 6399

12. The sum of 5 consecutive integers is 35. What is the median of the 5 consecutive 2° 971/

| =100
integers? CL, o) ’ 0{_\_1/ 0\_‘_%/ 0\“\"1
(A)5 —
‘ Kt ar] a4l YAy vaty= 35
Sa+ip= 25 = H4=725 = a=5
(D)9 - _
(E)3 2) (’)17) G, Median |5 7

13. Which of the following isa solution to x(x — 2)(x + 3)(x + 5) = 0?

X=0 5 a solw 6
XL =0 S0 X=2_

1 o st\wlom

(g)-os xxB=0 15 o sowlen g x=-
ED;Z Xy5=0 '7 ° RSN 50 =g
(E)-2

14. Which of the following is a factor for of the expression x2 — 9?

1
(A) (x = 3)(x ~ 3) X—9q = (X~3>Uﬁ~3>
(B)(x—1(x+9)

) (x=3)x +3)
(D) (x + 1)(x = 9)
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(E) 2x-3)(2x + 3)

15. Which of the following is a factor for of the expression 5X2 — 13x — 67

A) (5x + 6)(x — 1)

(B) (5x —6)(x + 1)

C)(Bx—-3)(x—-2)

(5x+2)(x—3); Sx_-I5xt+ex—b = 5><~\’5X L
) (5x — 3)(x + 2)

16!
16. What is the value of the expression -—7 Note: n!= (n-1)(n-2)(n-3)...... (3)2)(1).

(A) 14 A

) 16 T(L;—' = & )5/%/[ = b 5 =
C) 240 :

(D) 224 /LH/

(E) 2

17. What is the determinant of the matrix shown below?

5 3= ®F) - 3E)
= —1b+)5 = —|

18. Which of the following matrices is equalto

AN P

W[ 1] \\ otk 3 Y
®f 1 [“HS I
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17 0
o3 o
—-14 86
€ [ 59 4]
19. What must be the value of a for the matrix [';2 —1 ] to have a determinant of 10?
(A) -4 CODH) - OE=2Y= 10
2 - @)63)
(D)-3 3a= IL
(E)5 (1= t—-&

20. What is the equation of the vertical ellipse( major axis is parallel to the y-axis) centered
at (1,8) and with a minor radius of 2 and a major axis of 3?

2 T
@-1? | (y-8)2 -~ = <-
(A) ==+ =1 (Xlrx) e 1 f:> = |
—-1)2 -2 2
(B)<x91> +(;v48) —1 N " ‘ .
2 2 _ =2 mMapf aX\s
©) (x+1) n (y+8) —1 = z2. 'O \\
4 9 . 2
(x+1)?  (y+8)2 _ X— .
O ==+ =1 ( D’\‘__,_ﬁ@ §>:\
—132 —o2
(E)(" 1) L 08 13 2 3
4 9
Answers
1. A 11.B
2. E 12.B
3. B 13.A
4. ¢ 14.C
5. A 15.D
6. D 16.C
7.C 17.A
8. A 18.A
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9. B 19.B
10.E  20.A



